## Acta Mathematica Universitatis Ostraviensis

Andrzej Schinzel<br>Reducibility of a special symmetric form

Acta Mathematica Universitatis Ostraviensis, Vol. 14 (2006), No. 1, 71--74
Persistent URL: http://dml.cz/dmlcz/137486

## Terms of use:

© University of Ostrava, 2006

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

## Reducibility of a special symmetric form

A. Schinzel


#### Abstract

Irreducibility over $\mathbb{C}$ of a special symmetric form in a variables is proved for $n>3$.


During the XVIIth Czech and Slovak International Conference on Number Theory A. Sładek has proposed the problem for which values $k \geq 2, n \geq 3$ the form

$$
F_{k, n}=\prod_{i=1}^{n} x_{i}^{k}+\left(-\sum_{i=1}^{n} x_{i}\right)^{k} \sum_{i=1}^{n} \prod_{\substack{j=1 \\ j \neq i}}^{n} x_{j}^{k}
$$

is reducible over $\mathbb{C}$.
The following theorem gives a partial answer.
Theorem. If $n>3, F_{k, n}$ is irreducible over $\mathbb{C}$.
In the proof, based on three lemmas we shall denote by $\tau_{i}\left(x_{1}, \ldots, x_{m}\right)$ the $i$-th elementary symmetric polynomial of $x_{1}, \ldots, x_{m}$ and set $\tau_{i}=\tau_{i}\left(x_{1}, \ldots, x_{n}\right), \tau_{i}^{\prime}=$ $\tau_{i}\left(x_{1}, \ldots, x_{n-1}\right)$.
Lemma 1. For all $k \geq 1$ and all $n \geq 3$ the form

$$
A_{k, n}=\sum_{i=1}^{n} \prod_{\substack{j=1 \\ j \neq i}}^{n} x_{j}^{k}
$$

is irreducible over $\mathbb{C}$.
Proof. We proceed by induction on $n$. For $n=3$ we have

$$
A_{k, 3}=\left(x_{1}^{k}+x_{2}^{k}\right) x_{3}^{k}+x_{1}^{k} x_{2}^{k}
$$

Since $\left(x_{1}^{k}+x_{2}^{k}, x_{1}^{k} x_{2}^{k}\right)=1$ reducibility of $A_{k, 3}$ over $\mathbb{C}$ implies that $A_{k, 3}$ viewed as a polynomial of $x_{3}$ is reducible over $\mathbb{C}\left(x_{1}, x_{2}\right)$, hence by Capelli's theorem (see [2], p. 662) $x_{1}^{k}+x_{2}^{k}$ is in $\mathbb{C}\left[x_{1}, x_{2}\right]$ a power with exponent $e>1$ dividing $k$, a contradiction.

Assume now that the lemma is true for $n-1$ variables ( $n \geq 4$ ). We have

$$
A_{k, n}=A_{k, n-1} x_{n}^{k}+\prod_{j=1}^{n-1} x_{j}^{k}
$$

By the inductive assumption $A_{k, n-1}$ is irreducible over $\mathbb{C}$, hence it is prime to $\prod_{j=1}^{n-1} x_{j}^{k}$ and is not a power with exponent greater than 1 in $\mathbb{C}\left[x_{1}, \ldots, x_{n-1}\right]$. Hence, by Capelli's theorem $A_{k, n}$ is irreducible over $\mathbb{C}$.

Lemma 2. For all positive integers $k$ and $n$

$$
A_{k, n}=\sum(-1)^{k+\lambda_{1}+\ldots+\lambda_{n}} \frac{\left(\lambda_{1}+\ldots+\lambda_{n}-1\right)!k}{\lambda_{1}!\lambda_{2}!, \ldots, \lambda_{n}!} \tau_{n}^{k-\lambda_{1}-\ldots-\lambda_{n}} \tau_{n-1}^{\lambda_{1}} \cdot \ldots \cdot \tau_{1}^{\lambda_{n-1}}
$$

where non-negative integers $\lambda_{1}, \ldots, \lambda_{n}$ satisfy $\lambda_{1}+2 \lambda_{2}+\ldots+n \lambda_{n}=k$.
Proof. We have

$$
A_{k, n}=\tau_{n}^{k} \sum_{i=1}^{n} x_{i}^{-k}
$$

and it suffices to apply the formula (see [1], p. 155)

$$
\sum_{i=1}^{n} x_{i}^{-k}=\sum_{\lambda_{1}+2 \lambda_{2}+\ldots+n \lambda_{n}=k}(-1)^{\lambda_{1}+\ldots+\lambda_{n}} \frac{\left(\lambda_{1}+\ldots+\lambda_{n}-1\right)!k}{\lambda_{1}!\cdot \ldots \cdot \lambda_{n}!} \frac{a_{n-1}^{\lambda_{1}} \cdot \ldots \cdot a_{1}^{\lambda_{n-1}}}{a_{n}^{\lambda_{1}+\ldots+\lambda_{n}}}
$$

where $a_{i}=(-1)^{i} \tau_{i}$.
Lemma 3. If $f \in \mathbb{C}\left[x_{1}, \ldots, x_{n}\right] \backslash\{0\}$ is a symmetric form of degree equal to the common degree $d$ with respect to each variable, then

$$
f=a \tau_{1}^{d}+\sum_{1} c_{\delta_{1}, \ldots, \delta_{n}} \prod_{i=1}^{n} \tau_{i}^{\delta_{i}},
$$

where $a \in \mathbb{C}^{*}, c_{\delta_{1}, \ldots, \delta_{n}} \in \mathbb{C}$ and the sum $\sum_{1}$ is taken over all non-negative integers $\delta_{1}, \ldots, \delta_{n}$ with $\delta_{1}+\delta_{2}+\ldots+\delta_{n}<d, \delta_{1}+2 \delta_{2}+\ldots+n \delta_{n}=d$.
Proof. Since $f$ is a symmetric form it equals $F\left(\tau_{1}, \ldots, \tau_{n}\right)$, where $F \in K\left[y_{1}, \ldots, y_{n}\right] \backslash$ 0 is isobaric with respect to the common weight $w$ of monomials of $F$ and the common degree $d$ of $F\left(\tau_{1}, \ldots, \tau_{n}\right)$ with respect to each variable $x_{i}$ equals degree of $F$. Let $M$ be a monomial of $F$ of degree $d$,

$$
M=a \prod_{i=1}^{n} y_{i}^{\alpha_{i}}
$$

We have

$$
w=\sum_{i=1}^{n} i \alpha_{i}, \quad d=\sum_{i=1}^{n} \alpha_{i}
$$

and the equality $w=d$ gives $\alpha_{2}=\ldots=\alpha_{n}=0, M=a y_{1}^{d}$. Hence

$$
F=a y_{1}^{d}+\sum_{1} c_{\delta_{1}, \ldots, \delta_{n}} \prod_{i=1}^{n} y_{i}^{\delta_{i}},
$$

which implies the lemma.

Proof of Theorem. By Lemma 1 at least one irreducible factor of $F_{k, n}$ viewed as a polynomial in $x_{n}$ has the leading coefficient $A_{k, n-1}$. Let us call this factor $f_{1}$ and the complementary factor, assumed not constant, $f_{2}$. If for at least one transposition $\tau \in S_{n}$ we have $f_{1}^{\tau} / f_{1} \notin \mathbb{C}$, then since $F_{k, n}^{\tau}=F_{k, n}$ we obtain

$$
f_{1} f_{1}^{\tau} \mid F_{k, n}
$$

hence

$$
2(n-2) k \leq 2 \operatorname{deg} f_{1} \leq \operatorname{deg} F_{k, n}=k n ;
$$

$2(n-2) \leq n, n \leq 4, \operatorname{deg} f_{1}=2 k, f_{1}=A_{k, n-1}$ and

$$
A_{k, n-1} \mid F_{k, n}\left(x_{1}, \ldots, x_{n-1}, 0\right)={\tau_{1}^{\prime}}_{1}^{\prime} \tau_{n-1}^{\prime k}
$$

which contradicts irreducibility of $A_{k, n-1}$. Therefore $f_{1}^{\tau} / f_{1} \in \mathbb{C}$ for all transpositions $\tau \in S_{n}$. If for a transposition $\tau=(i j)$ we have $f_{1}^{\tau}=c f_{1}, c \neq 1$, then $\tau^{2}=i d, c^{2}=1$ implies $c=-1$ and since $f_{1}^{\tau} \equiv f_{1}\left(\bmod x_{i}-x_{j}\right)$, it follows that $x_{i}-x_{j} \mid f_{1}, f_{1}=a\left(x_{i}-x_{j}\right)$, contrary to the choice of $f_{1}$. Therefore, $f_{1}^{\tau}=f_{1}$ for all transpositions $\tau \in S_{n}$ and since $S_{n}$ is generated by transpositions, $f_{1}^{\sigma}=f_{1}$ for all $\sigma \in S_{n}$. Since $F_{k, n}^{\sigma}=F_{k, n}$ we have also $f_{2}^{\sigma}=f_{2}$, thus $f_{2}$ is a symmetric form,

$$
f_{\nu}=F_{\nu}\left(\tau_{1}, \ldots, \tau_{n}\right) \quad(\nu=1,2)
$$

It follows now from Lemma 2 and the algebraic independence of $\tau_{1}, \ldots, \tau_{n}$ that

$$
F_{0}=F_{1} F_{2},
$$

where

$$
F_{0}=y_{n}^{k}+y_{1}^{k} \sum_{2}(-1)^{\lambda_{1}+\ldots+\lambda_{n}} \frac{\left(\lambda_{1}+\ldots+\lambda_{n}-1\right)!k}{\lambda_{1}!\ldots \lambda_{n}!} y_{n}^{k-\lambda_{1}-\ldots-\lambda_{n}} y_{n-1}^{\lambda_{1}} \cdot \ldots \cdot y_{1}^{\lambda_{n-1}}
$$

and the sum $\sum_{2}$ is taken over all nonnegative integers $\lambda_{1}, \ldots, \lambda_{n}$ with $\lambda_{1}+2 \lambda_{2}+$ $\ldots+n \lambda_{n}=k$.

On the other hand, $f_{2}$ as a factor of the form $F_{k, n}$ is itself a form and

$$
\begin{aligned}
& \operatorname{deg} f_{2}=\operatorname{deg} F_{k, n}-\operatorname{deg} A_{k, n-1}-\operatorname{deg}_{x_{n}} f_{1}=2 k-\operatorname{deg}_{x_{n}} f_{1}= \\
& \operatorname{deg}_{x_{n}} F_{k, n}-\operatorname{deg}_{x_{n}} f_{1}=\operatorname{deg}_{x_{n}} f_{2}
\end{aligned}
$$

hence, by Lemma 3

$$
\begin{equation*}
F_{2}=a y_{1}^{d}+\sum_{1} c_{\delta_{1}, \ldots, \delta_{n}} \prod_{i=1}^{n} y_{i}^{\delta_{i}}, \quad a \in C^{*} \tag{*}
\end{equation*}
$$

We have

$$
F_{2}\left(y_{1}, \ldots, y_{n-1}, 0\right) \mid F_{0}\left(y_{1}, \ldots, y_{n-1}, 0\right)=y_{1}^{k} y_{n-1}^{k}
$$

thus

$$
F_{2}\left(y_{1}, \ldots, y_{n-1}, 0\right)=b y_{1}^{\alpha} y_{n-1}^{\beta}, \quad b \in \mathbb{C}^{*}
$$

and, by (*)

$$
F_{2}\left(y_{1}, \ldots, y_{n-1}, 0\right)=a y_{1}^{d}
$$

If $F_{2}$ depends on $y_{n-1}$ it follows that its leading coefficient with respect to $y_{n-1}$ is divisible by $y_{n}$. However the leading coefficient of $F_{0}$ with respect to $y_{n-1}$ is $(-1)^{k} y_{1}^{k}$, not divisible by $y_{n}$. Therefore, $F_{2}$ does not depend on $y_{n-1}$ and it divides the leading coefficient of $F_{0}$ with respect to $y_{n-1}$, thus we obtain

$$
\begin{array}{ll}
F_{2} \mid y_{1}^{k}, & y_{1} \mid F_{2}, \\
y_{1} \mid F_{0}, & y_{1} \mid y_{n}^{k} .
\end{array}
$$

The obtained contradiction completes the proof.

## Remarks.

(1) In the theorem and the proof $\mathbb{C}$ can be replaced by any field $K$ of characteristic not dividing $k$ and the monomial $\prod_{i=1}^{n} x_{i}^{k}$ by any polynomial $F\left(\tau_{1}, \ldots, \tau_{n}\right)$, where $F \in K\left[y_{1}, \ldots, y_{n}\right]$ and

1) $F$ is isobaric of weight $k n$,
2) degree $F<2 k$,
3) $\operatorname{deg}_{y_{n-1}} F<k$,
4) $F \not \equiv 0 \bmod y_{1}, F \equiv 0 \bmod y_{n}$.
(2) The condition $n>3$ cannot be omitted in the theorem, since for $k$ odd $F_{k, 3}$ is reducible, divisible by $x_{1}+x_{2}$ (this remark has also been made by A. Sładek).

## References

[1] O. Perron, Algebra I, Walter de Gruyter 1951.
[2] L. Redei, Algebra Erster Teil, Akademische Verlagsgesselschaft, Leipzig 1959.
Author(s) Address(es):
A. Schinzel, Institute of Mathematics PAN, P.O. Box 21, 00-956 Warszawa 10, Poland

